N = 0l & At & Ml A

20124 20& e ST 28 ~ S SRR

a2 387 23 2N B E2D
Ha: NYBIAY 2
SRl AL ABYR =7 (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
S =3 97,841,581 115,741,818 A 17,900,237
= 31,456,757
=2 632,137
< 11,980,573
Al 53,772,114
S RN 5,782,487 20,485,853 A 14,703,366
ANy 23t 1,619,824 1,971,932 A 352,108
ALTE AIMER =2 527,501 645,519 A 118,018
THAZUSE & LHEEN 29 40,000 38,200 1,800
202 o4dl 34,200 32,400 1,800
04 = H &t Hl 34,200 32,400 1,800
OREs2d H&X A&
1,800,000& 19 % 13| 34,200
303 Z& 3 5,800 5,800 0
01 243 5,800 5,800 0
O=sf2e 2+2M M3 4,800
—i®= 500,000& 18 A 43| 2,000
-2 300,000& » 1= A 43| 1,200
— & 200,000& 2% N *43] 1,600
ORES2RA H& F45F 78 50,000& 20 1,000
AL AlE BIIE 24H 172,793 170,698 2,095
307 glz2+ol & 169,293 168,298 995
05 RIZt2E = 169,293 168,298 995
O&EU ESsAE 29 169,293,000 14 169,293
401 AIEHI L 20 3,500 2,400 1,100
01 A& HI 3,500 2,400 1,100
O 0l& Ald 2 ZAt 3,500,000& =14 3,500
AT YRFAES AS HYXA 71,680 84,700 £13,020
201 ¢er24l 69,180 79,980 A 10,800
01 At 22l 67,380 78,180 A 10,800
O=23Y =ET2% Jt2I| 10,0002 *1,0004 10,000
OFALAHAIE DI 25,0003 45 * 122 1,200
O3Rad=s A
500,000& *2A| 2t *43] 4,000
SHAIR EFEIH M 100,000& »10& 53| 5,000
OFLUAE 24l 600,000& 128 7,200
OFUAE 3 FHl 600, 000& 22 1,200
OAL2E 22 A &40
100,000& *23] * 150 A& 3,000
OREH & 2EF WA 7,000 *2001 12 1,680
ORodH 9= 550,000& »12& 6,600
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42 57 23 2N BRT B
HE: NYHyAY 25
SRl AL ABYR =7 (B9 ®R)
AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2
SEEEEEFEERIEEEELI
20,000,000& 20,000
Odzx=a 7,200
A= PN 15,000& x202 ~12& 3,600
— K& 12,000 x252 128 3,600
OFAYE 225 300,000 *12f %14 300
02 35244l 1,800 1,800 0
oRE2 150,000& = 12& 1,800
401 Al HI L 2 0HHI 2,500 0 2,500
01 A& HI 2,500 0 2,500
O=J|Z20IH 2= 25,0002 =100 2 2,500
N SMEIE Fs XN 132,773 117,420 15,353
201 LEt2 Y| 13,000 13,000 0
03 HAFS S HI 13,000 13,000 0
O S MBS A
5,000,000& 13| 5,000
OoFINZY s53 X
500,000 x4l = S 3| x4 3] 8,000
303 ZAZ 81,260 74,420 6,840
01 ZAZ 81,260 74,420 6,840
OFstd Ots 255 XN& 58,560
— OAl 197,000& x5 x12& 11,820
— 1Al 173,500 x5 x12& 10,410
— 2Al 143,000& x5 x12& 8,580
— 3Al 98,500& *10¥ x12& 11,820
— 4MI0l & ~6Al 0] 2t 88,5003 x15H x12& 15,930
O AL MSUI A AlAS 2,700
-5 1,000,000& *12 A 1,000
—E2S 700,000& *182 M 700
—&d 500,000& *22 M 1,000
O3 A5 st & J1g3 50,000& x400H 20,000
307 QI2t0| M 38,513 30,000 8,513
07 d=X==2 38,513 30,000 8,513
OAMZZERZ2 & Mal20W B2X3
2,567,500& *15H 38,513
SSHO olAr2te] 48,993 152,099 A 103, 106
101 @121 47,313 44,819 2,494
04 JI2ZtH 22 XNHEE =+ 47,313 44,819 2,494
Otixers olgal 47,313
—-J|=23 37,5503 12 x90 40,554
- HF=5dsE 37,550& 128 x 15 6,759




- _ _ RE]
2.2 HE B (EH) - NEAY - BES Ol At 04 %Eﬁ HR=2
201 Bt 1,680 1,680 0
01 AP 22| H| 1,680 1,680 0
OCIAIRIE 3 3lo=¢ 70,000 «4H «63| 1,680
S23 S 0IsS A2 EeDl 3l 17,600 20,000 N 2,400
307 2izto| A 17,600 20,000 N 2,400
04 QI2H8H AL R 17,600 20,000 A2,400
Os& 3 stots A2l sl
17,600,000 = 13| 17,600
J2HHZ22 X 29 43,662 40,402 3,260
101 Q121 H| 43,662 40,402 3,260
04 JI2ZtHIZ2 2 NEE S 43,662 40,402 3,260
OJIZtNIZ22 X AMSIEE AMgEEEZ 38,662
—A2dEE 423,000,000 *x2.82% 11,929
— A RAEE 11,929,000 *6 . 55% 782
— =203 423,000,000 *x4.5% 19,035
— 1288 423,000,000 *1.4% 5,922
—MIHEE 47,313,000 *2. 1% 994
OJIZ2ZtHIZ22 X & &2 2,500,000& »2H 5,000
ol EEHIIE L A 418,579 438,896 N 20,317
2AHO =EJ|E & XH 304,800 308,800 A4 ,000
201 gEt24y| 64,800 64,800 0
01 AP 22| H| 64,800 64,800 0
OJ|& &l LBt=24| 400,000& x12& 4,800
OFFANBF=E Lbtx==H| 16,000,000 14! 16,000
OFFANE=E S| 10,000, 000& * 1Al 10,000
OFRIYFEDA M 20,000& 2008 %23 8,000
FZRALAEMN M= 10,000, 000 = 1Al 10,000
OHIAMNPZA 2EDA HE
20,000 x200 2 4= 16,000
202 04| 18,000 18,000 0
01 2Ll 18,000 18,000 0
ORFHAH=E Y 18,000,000 18,000
401 Al HI L £ 0HHI 220,000 220,000 0
01 Al& B 220,000 220,000 0
OF0=2AANAH (S) 20,000,000 110l = 220,000
405 XHA&HF S HI 2,000 2,000 0
02 = A 72| 2,000 2,000 0
O#HFXNES A TAHFLH| 10,000 x200& 2,000
ZALE S 8,400 8,400 0




AR FEP 23 SN BEER B2
Ha: NYBIAY 2
SHel: RFO FZEIIY U LA CERED
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
201 Bt 2,400 2,400 0
01 AP 22| H| 2,400 2,400 0
O2tAL2 el LBt=2Y| 200,000 x12& 2,400
202 044 6,000 6,000 0
01 2L Hl 6,000 6,000 0
OHAMNER =&Y 20,000& x5Y x5 x12& 6,000
HEES 49,220 50,420 A 1,200
201 et d| 46,420 45,420 1,000
01 AR 22l ] 38,000 37,000 1,000
O28 e dBt4f=2H| 200,000 x12& 2,400
OFREFEBAHAE AXIIZE X 22
800,000 x12& 9,600
ORFANH EE L 24| 25,000,000 25,000
OZLR 22 I IS A 2¥
500, 000& *2Al 2+ *13] 1,000
02 2324 8,420 8,420 0
OFE=EEAHNANET SKXNE S 200,000 104 2~ 2,000
OS&&H |A2 200,000 x12& 2,400
O&d&E X2l 200,000 x12& 2,400
OAHAoIsTVEN & 135,000 x12& 1,620
405 XHAHFEIEHI 2,800 5,000 N 2,200
01 XA 2B F S| 2,800 5,000 A2,200
OAMEA A (AR) 2,800,000 =1CH 2,800
SAHXNE ZAF L 22| 56,159 71,276 A 15,117
101 e1214| 17,852 19,434 AN 1,582
04 JIZtHIZ22XNSESES 17,852 19,434 A 1,582
OEHZA 212 17,852
— ZEHI XA & B2XA 222
46,7903 x5 H x27 6,317
— XA 22l Rt 42 670 %23 %27 2,305
—AaglsE o AR A 42 6703 x8H x24 8,193
—JugEz o 20N
8,620,830& *7.14% 616
—MEEE & DNEYE =
16,813,470& %2 .5% 421
201 et d| 36,307 49,842 AN 13,535
01 AP 22| H| 36,307 49,842 N 13,535
OSH ZHIZAI L 2XA2A
44 6703 x32%H x24 34,307
OSAHAZAI =4 Ldbt2H| 2,000,000 2,000
202 04| 1,000 1,000 0
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M ox
40 5 4

AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2
O/Me =oix dagy P&
2,000& x50 x23] 200
gt U HAE dEE8s A 5,400 6,480 A 1,080
307 212t01 & 5,400 6,480 A 1,080
02 2tFMNE X 5,400 6,480 A 1,080
Oy 2 HAW MBS (Z23E)
3,000 *30H *&53| x12& 5,400
gy 29 XA 228,650 264,610 A 35,960
301 dEtE A= 225,650 210,610 15,040
04 Ar2LEUISHY 225,650 210,610 15,040
O0FAHI 108,576
—AsgE 3,000 *6% 16K K| T 312! 89,856
—0ou Xr=2e
3,000& x4 X 5l X| O »312L 18,720
OH ZHl 1,200& x4 Al 2t %105 *21JH X| CH 10,584
(@M=l 60,000& x705H 42,300
OstM=eEd 30,000& *21JH XI CH 630
@)=13=2pSgs]l 100, 000-& 22K X| CH 2,200
Ow Sl 100,000& 141 K| CH = 12& 16,800
ogd 249l 90,000& #2200 Xl L = 12& 23,760
Ox=a eE= 2,600,000& *8JH X| CH 20,800
401 Al HIL 20| 3,000 54,000 251,000
01 Al &bl 3,000 54,000 251,000
oggH x4 £2| 1,000, 000& =30 XI CH 3,000
FESA olZe 25 2 A2 379,454 557,207 NAT77,753
2SS4 EH| 1 120,200 266,090 A 145,890
405 X+H&HF SHI 120,200 266,090 A 145,890
01 A&t =S F SHI 120,200 266,090 A 145,890
O AHZHHI(CHAN) 71,550
—AEH(ZLIHES) 1,350, 000& *40CH 54,000
— DT2IEJI (M) 790, 000& *20H 15,800
—SES(UA) 1,750,000& = 1CH 1,750
OJIEtsE8 e FHS 48,650
— AANHEI(AF) 600, 000& =2CH 1,200
—SAUFEBTA(XML)E IPESII(EAH, A7)
400,000 = 10CH 4,000
—SAXHEITA(XM)E IPESID (S, A7)
330, 000& *65CH 21,450
— 20t POE ARE FE(AR)
2,200, 000& =8CH 17,600
— S FOME SHEAEFAEI(UPS) =& XI(
CHAD 4,400,000& =14 4,400
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AZ: D =28 2N B E2D
HE: NYHyAY 25
ch < 284 oZet 25 2 A2 (&)
SN BAGIA) - HRAY - BES 0l &t o il HImEET
2S48 ALFH & SHY 22 186,374 171,091 15,283
201 £B-2d| 171,374 165,691 5,683
01 At 22l 31,780 24,410 7,370
O2ZEAN 7¢ 29,380
— NS A2010 & 280,000& 1002 28,000
— AUTOCAD 2011 +2¢& 1,380,000& 12 1,380
OFESH 228 7¢ 200,000 »12& 2,400
02 =24l 139,594 141,281 A 1,687
OgetMstald ALEZ  120,0003 603 & 128 86,400
OdFLYL AIEZ 10,000 *303] & «12& 3,600
OFSE=-1FaN=3 25,0003 153 & «12& 4,500
OQIHYASLAIE = 25,0003 23| &4« 12 600
O2NBESLUAMEIA EZ
1,386,000 18| & «12& 16,632
Oo0lsds AAEZ 63,0003 «2CHx12& 1,512
Ogads AEE 6,000 =120 x 122 864
Ogetdst&I| RAE=Hl
142,000, 000 *8% 11,360
OlPwEI & 2FUHEH SXNE=H|
76,567,000 x8% 6,126
OHESH AM&EHl SXHl 100,000,000 *8% 8,000
401 AIEBI L 20HEI 15,000 0 15,000
01 A& Hl 15,000 0 15,000
Oosag & - Z4HI 15,000, 0003 * 14! 15,000
Y= 2ZES e E25 23 72,880 120,026 ANAT 146
201 ¢er24] 62,880 70,926 A 8,046
01 At 22l 58,380 64,576 N6,196
OANRIEES ns 2Axg
30,0003 «142A1 2t 118 46,860
OANIEESNsE WM 7€
6,000& 4200 2t & «30H 7,560
OANREES WSS 010X AZEHN 2
110,000 312 3,410
OANBES =3 22l 50,0002 x 1101 & 550
02 2324l 4,500 6,350 A 1,850
OAMEIZEEstuEZd & REPCY FFEH RAE
=l 250,000 122 3,000
OM&& PC #=cltl 1,500,000& » 14 1,500
207 O & H| 10,000 15,000 A5,000
02 & AR I 10,000 15,000 A5,000
O3 & = FC0MH SHOIX HEH
10,000, 000& 12/ 10,000




4= 587 28 2N ERP S
M S EH0 FA2Y
SRl BAAE B3 L X2
A2 .2 FH-S(BH) - HRAY - BES il
SEHQ FAN2Y 1,319,589
FAMAE &5 € FANEx 1,168,199
SEHQ FHArztel 203,531
201 Let24d] 203,531
01 At 2teltl 33,600
O&EAMHEIXE 3= 6,000
—HEsz 200,000 *5JH x33] 3,000
— 2gsE 20,0003 *5074 33 3,000
OZAHZE= 35,000& 90 3,150
O2H3EX 20,0003 «2&+128 480
OSAMNEEEH 60,0003 x4& 240
O=lH2dE Ma Kol 50,000& 158 750
ONEMa = g Rl M
15,000& 2005 3,000
odldl gxz 15,000 *4101 & %123 7,380
O&==J, 383 gxx
30,0003 #1700 2128 6,120
O&XYE =2 15,000 7024 1,050
OMgcaa 23015 =2l 3,000,000 =14 3,000
ONXEID AMAE A2E 2,430
— XHEcHE 1,070& =1,00074 1,070
—DnolgEay 1, 1002 5004 550
- ONE=-Rel -2 300& 5004 150
— Y-Sty 1,200& *3004 360
—HEEEE 2= 300,000& 1Al E 300
232%4| 169,931
OFAANEE 28 XM 5,000,000 » 14! 5,000
OFATINEE RAEF A3
750,000& 128 9,000
OFA 3t&E4 KRAE= 400,000& 1000 2 4,000
OFAI BHH(2E,4A5) 350,000& =128 4,200
OFAL A2AI4 otd2te|] 300,000 12& 3,600
OsZJl A2l 400,000& x12& 4,800
OSAMIEAAD HH& MASBHZ 50,0008 +12 50
OF AL | XAlHI 7,000,000& +x12& 84,000
OFAL HIIANEE RANE=> 70,000& *600kw 42,000
O&AN H&EFE EEX WA 500,000 «9CH 4,500
OEBM S83 FA4H & A=H|
2,000,000& =23l 4,000
OFA Ma=x & SUthi==2 =Z A Al
100,000& * 13l 100
OFA HI&2AI| |FX2eldl 130,000 «12& 1,560




42 57 23 =N ERT E20
Ha: 58F0 ALY
Sol HAANL 25 2 NS (e9: & 9)
- _ _ RE]
2.2 HE B (EH) - NEAY - BES Ol At 04 %Eﬁ HR=2
OsdJ HIIEAME 150, 000& =20l * 13 300
OFA H3lXx HAH| 18,000& *156.672& 2,821
HAANE WA W2 352,000 183,000 169,000
401 Al HI L 204 HI 352,000 183,000 169,000
01 Al&H| 352,000 183,000 169,000
O A RGtAL Wl L) A2 L 2D QUL
E HAZA 13,000,000& * 14l 13,000
O A RGtAl Wl LB HLEBE Ms 9 B4
2 Ab 2,500,000& x1Al %25 5,000
OFA E2Y S WHSA 4,000,000 =14 4,000
OFAF JIHA 25 242 A 5,000,000 =14 5,000
OFAMNU SIAIE= 22 Z2AF 25,000 *800m 20,000
OFANAS (RS ZE)H A 15,000, 000 » 14! 15,000
OAMEBRA LED ZHE AXZA
300,000& *200set 60,000
OFHA HEE 24 - 2 ZA
200,000,000 x4l 200,000
OFUMEXADL ARA =T DA
30,000,000 x1A! 30,000
2222 ¢ HA 237,800 240,800 A 3,000
201 gEt24Hy| 237,800 240,800 A 3,000
02 Z2=2=2494| 237,800 240,800 A 3,000
OFA Y HEE TAIA 2
6,500,000& 12& 78,000
OANEZE SHINERE =2 1,800,000& 23] 3,600
OANEZE HNERYREHIZ 2,000,000 x13] 2,000
OBM HIlQTBR HY 248
600,000 x12& 7,200
OFA &HII223 9,500,000 x12& 114,000
OFEAN ol 223 2,750,000& ~12& 33,000
= FOHEH &= 374,868 0 374,868
401 AlEHIZL 2 0HY| 374,868 0 374,868
01 Al&H| 374,868 0 374,868
282 AAIEA HE 374,868
— &l Al & Al I 360,000,000 *4 . 13% 14,868
— A= Z AHHI| 360,000,000 x4l 360,000
gxg el 151,390 173,305 ~21,915
22 A2 151,390 145,305 6,085
201 B9 151,390 145,305 6,085
02 2224 H| 151,390 140,405 10,985
OXNsSX 282 840,000 *33CH 27,720
O Xts XA 3,160




42z =23 SN B E20)
M g8 HA2I
ool BERY e CERED
AR RA BB OBH) - MBEAY - BAS O Ak o8 ﬁlf& HD=2
- 58X 200,000 *4LH x23] 1,600
— 358X 60,000& x11CH =13 660
-8 2 3= 50,000 x18CH x13l 900
OXNsSX Z2AF 2 HUEZH =232 2,130
—dJ|EA 40,000& *33CH 1,320
—3LEZ 45,000 *18CH 810
o=t 2 80,000& 18U x23] 2,880
Oz XYl 3,500, 000& *33CH 115,500
BHSALY(EAT BL2D) 2,843,074 17,670,577 A 14,827,503
QlERXAH|(EZ) 2,539,824 17,353,517 N 14,813,693
ol 2AH| 2,539,824 17,264,762 N 14,724,938
101 2121 4| 1,190,237 15,439,215 N 14,248,978
02 JIEt& 2% 5,867 434,940 N429,073
OFRJEZE NISEE MIE B2
419,026,000 *1.4% 5,867
03 2INHA22XNHE %= 1,184,370 1,213,006 N 28,636
OFAM&LEH 23,281
—-Jl2= 836,680& x12& 10,041
—J| &Y 836, 680& *400% 3,347
= F-=lsl| 836,680& *150% 1,256
— JAHI X &l 836, 680& *200% 1,674
— 3 HZAH| 80,000& x12& 960
— WEEXH| 140,000& ~12& 1,680
— MG 30,000 x12& 360
— 223
(836,6802 /243 Al 2+ )*8Al 2t x65%* (4 x 122 ) 860
- pYuIRLy
4 470% =1 .50 *8A| 2t*x2L % 12& 1,288
— X E 4 AT0R *8A| 2Fx17L 608
—AZ2t224
4,470 =1 58 x15A| 2t 12& 1,207
ORIHEZZX AISIEE MEE 23 181,089
— =00AHZ 2,031,000,000& %4 .5% 91,395
—H2AES 2,031,000,000& *2.82% 57,275
—A)YEE 57,275,000 *6.55% 3,752
- 1288 2,031,000,000& *1.4% 28,434
—MHEE 23,280,000 x1.0% 233
ORJIIH=*X22 X &&= 140,000,000 +7H 980,000
303 ZA& 3 840,000 840,000 0
02 A= 840,000 840,000 0
Odau2 840,000, 000& 840,000
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A7 =3
HeAPH (S8R 52
A2l (B2)

I SN Y. B () NEAY - BAS il HDS2
304 H=2R2E=28 509,587 449,267 60,320
02 B0AHAUEE=S 509,587 449,267 60,320
O=0UALEHZ A 243
16,959,560,000& *2.82% 478,260
OFIQURE AYE 2e3
478,260, 000& *6.55% 31,327
| 2 2Z& bl 303,250 317,060 A 13,810
&l 303,250 317,060 A 13,810
201 L2 Y| 205,560 205,620 A 60
01 A2 22| I 205,560 205,620 60
ORAMd29H| 60,000& *36H x12& 25,920
OPIE=3=2=1:| 70,000 »36H x12& 30,240
Og Al 144,600
- =4 60,000& x5 366 109,800
— X 60,000& *5H 116 34,800
Oga4a 2d| 400,000& x12& 4,800
202 0db] 59,400 54,000 5,400
01 2LHOHI 57,600 52,200 5,400
OJle2g2F=&u| 150,000& »32H x12& 57,600
02 EAHNYI 1,800 1,800 0
OSMAMS 150,000& * 1 x12& 1,800
203 Q2 =AY 38,290 38,290 0
01 J|2A2H L R=XH| 26,400 26,400 0
O3 % 26,400,000 26,400
02 HRJIAE R =&Y 7,270 7,270 0
OFJAINMALRFA 7,270
— 100 N X 40,000& *100H 4,000
— 1019 0l A 400 Mt X 30,000& x109H 3,270
04 ENSHLRF=XH| 4,620 4,620 0
ORANSIEgRFA 4,620
— 83 302K 350,000& x12& 4,200
— &8 & 310210/ 4 HAI
5,000 x7H x12& 420




A & 0 & 12 == L | A
20128 = =04t LB SR =2& ~ SEF SARL
AZ: ZRT =28 SN BER HMRD
Hu: oM NYMHL 28
el NgA 20 & (Sl & &)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
S N2 582,268 631,065 A48, 797
CHE MOl XN &8 467,128 517,225 A50,097
ANLA 20 & = 419,333 471,411 A52,078
NLAe 20 & = 369,993 410,943 A 40,950
201 L2l 363,993 366,543 A2,550
01 At 22l 102,313 104,863 A 2,550
OZJI2dXNAM HAE L EHAE 42,735
— &Il HalAl 773 %20,000A 1,540
—&8J|2 UsIHAl 773+180,000A 13,860
— &Il THatAl 773 190,000 14,630
—&Jlg =LA 773 165,000 12,705
OXEE, +AE DN L SRS HN
70,000 * 1408} A 9,800
OXEgAH 2228 =2 & ZAH MH 16,620
—XNEAANHE 100, 000& 60K x6 3! 3,600
—SEAMNE 70,0003 110K +63] 4,620
—XEE Y Y2bE 25,000F x2F5 *1301 x63] 3,900
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A= SR =38 EM ST FUHSF D
M Lol =X &
S HAS LS MEXFXH (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
HAS MOt @l AlABHE 52,710 52,500 210
=2 9,292
& 11,123
Al 32,295
307 gl2tol & 52,710 52,500 210
=2 9,292
< 11,123
Al 32,295
10 AtEI =X 2 X 52,710 52,500 210
OMAS MOt el AlAF BHEHlI 52,710,000 52,710
& 9,292
< 11,123
Al 32,295
Z2AE FHARF At 195,600 163,200 32,400
< 36,855
Al 158,745
307 21201 A 195,600 163,200 32,400
< 36,855
Al 158,745
10 A3l S X2 = 195,600 163,200 32,400
OZZAE FHAE 1At 195,600
— S A 212 120,000, 000& 120,000
< 19,397
Al 100,603
— XclAb 212l 75,600,000 75,600
< 17,458
Al 58,142
fIAE 2UHHE X 75,600 58,800 16,800
307 21201 A 75,600 58,800 16,800
10 AFRISXIEX 75,600 58,800 16,800
OR2F2AY FHAMHRH L 223
300,000 904 A +12& 32,400
ORESYZAY NAZAMESH
400,000 =90 A+ 122 43,200
ColAYNE 6,000 6,000 0
301 et a = 6,000 6,000 0
01 MEIBEE 2053 6,000 6,000 0
Ookolazdr ac 6,000,000 6,000
222U ¢ MIFHES U 365,840 340,500 25,340
< 9,337
Al 356,503
=== a2 136,800 133,200 3,600
301 et A= 136,800 133,200 3,600
01 AR 2Z A 53 136,800 133,200 3,600
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A2 UL ABHESE =Y S
- _ _ RE!
SA-EY B () NEAY - BYS %Ei 2
OXa4g 30,0002 <3802 « 12 136,800
ol 2| AtY 145,440 121,200 24,240
301 LA 145,440 121,200 24,240
01 NI EE X252 145,440 121,200 24,240
oLolddiel ad 145,440
— AP EOIX =ZAIZ 144,000,000 144,000
—MEER 144,000,000 *10/1,000 1,440
2Y AEZAIESH 81,600 81,600 0
= 9,337
Al 72,263
307 9I12+0| & 81,600 81,600 0
= 9,337
Al 72,263
10 A =X 2 81,600 81,600 0
OH2Y A3 2 AL S| 81,600,000 81,600
= 9,337
Al 72,263
o= A =Y 2,000 4,500 A2,500
201 L2 A H 2,000 4,500 A2,500
01 At 22l Hl 2,000 4,500 A2,500
OLOI=XAIY & 1,000,000 23] 2,000
g 29 U e 844,126 605,558 238,568
= 19,364
Al 824,762
2y 29 XAyl 70,000 70,000 0
301 LS AS 70,000 70,000 0
01 NI EEX 252 70,000 70,000 0
OH2Y F2AH 70,000,000 70,000
Zdag 294 NA(RX) 305,546 285,088 40,458
= 17,864
Al 307,682
307 2I2+0 & 305,546 285,088 40,458
= 17,864
Al 307,682
YEENEES 305,546 085,088 40,458
OH2Y 29 .U X 325,546,000 325,546
= 17,864
Al 307,682
A2y SAWLAY 201,540 126,740 74,800
201 L2 A b 65,540 58,740 6,800
01 At 22l bl 65,540 58,740 6,800
OZz2Y AMAEHI S 44,400
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SERE LR Y SN BT FUMEXAD
M Lol =X &
Sl 2P 2y L e CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
— 329 F40] a2
20,000& 1000 x12& 24,000
—3d2Y 23K/ NE=H 300,000 «687H & 20,400
Oz s Et¢ 200,000& 3104 2 6,200
Od2Y g4 AHE= 14,3003 5000 & +128 8,580
OZ2Y SFHMEEES 15,0003 *1204 A 23] 360
OZ2Y F3atx 2==Xeldl 150,000 244 & 3,600
OZes B2E =XHelAIZAS 22l
200,000& 128 =101 & 2,400
401 A& HIZ 201 I 136,000 68,000 68,000
01 A& HI 136,000 68,000 68,000
Od2YE N&EE=S 1,000,000 *68H A~ 68,000
OZz2g &3Hd 4,000,000 * 170 2 68,000
2" =35 ¥ 2307 B 139,400 20,460 118,940
405 XHobF S HI 139,400 20,460 118,940
01 At ESFH S 139,400 20,460 118,940
OZ2EMaqmy) & 23J1+7 46,400,000 46,400
O (AF) 2,000,000& *11& 22,000
OXXE LA (&) 1,500,000& »42CH 63,000
OQHOFSI (&l 77) 2,000,000 =4CH 8,000
Z2Y=2Y 243 Mg 65,000 0 65,000
307 21201 A 65,000 0 65,000
05 RIZt2IEt = 65,000 0 65,000
OZ2L2F 43t AtE 32,500,000 204 2 65,000
2EYSY 2H3 AY(EE) 10,000 70,630 160,630
< 1,500
Al 8,500
307 gl2tol & 10,000 70,000 A 60,000
< 1,500
Al 8,500
05 BIZtRE = 10,000 70,000 A 60,000
OZ=2E2Y 43 MY Ustolsl d2Al
s XNz X2 10,000, 000& 10,000
< 1,500
Al 8,500
12249 1#0lney 24 32,640 32,640 0
307 21201 A 32,640 32,640 0
10 A2l =S X2 X 32,640 32,640 0
O1Z32E 1560l 2
40,000 684 212 32,640
LSASEE 28 17,378,000 15,113,350 2,264,650
= 7,446,086
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Z W
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,940
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,000
,000
940
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H

Al

120,000
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01 M= bl
OS2 =2AE M-l
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= M
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459,940
71,000
20,000

368,940

920,000
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0H

SH LXelAre

= N W
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368,940

920,000

A 460,060

= N W

356,850
35,910
6,950
313,990
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A 381,150

04 JIZtNZ22XNHSE+

= N H

356,850

356,850
35,910
6,950
313,990
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A 381,150

201
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T
H0
02
=

= N H
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4,000

A2,000

il
m
=

01 At
LRl

gt~ ZH|

2,000,000

= M W
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270
120

1,610

4,000

2,000

202 Oddl

= W
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3,600

A 1,800

_42_




Rl

oF

aJ
=
o
=
el
20
ol
KF
_J_l
[d]
Ko
3
I+

%0
o)

7o KK
MR mﬁ
s
o0 00 3D
Ko = <
nr & oF

< RO T

(e} o o o o o (e} o o o o (e} (e} o (e} o o (e} o
— — o o o o o © O O © © o o
- - O B B 2, Sl |2 v |w © | %
o 2 12 A A A . DA IR I I |
Kio < <
El
o
o o o o o o o o o o (@] (e} (e} o (@] o o o o
(=] (e} o o o o o o o o 00} 00} QO o6} 00} o o o o
< < o] o] 0] o (e} o o0} (o0} [aV] [aV] [a\] © (e} < < [aV] N
< < o |w ||| < == ©|s|g|s | 3 |a < | <
N~ N~ (@] (@] o < <t Y9} Yo
H3r - -
mZ
RS
o O o O O O o o O O O o o o o o o o o o o o o o o o o o o o o o o o o
AN O D D — | D Y — D o o (e} o o O o o o o o <t <t <t < < @ O o o O o o O
- Y| oo d dDoo|S S (S |NIS S d d|R R @9 |9 |0 [N |d o o diddd|dd
— DT N — | D D AN = o (@] o [oe] — N~ N~ — — — — — — o] 0 o <t Al (9] [aN} <t < <
=
al
<
(=)
H < W= W=
G G o G o o o o
S S — S —_ - — —
HAI AUv AUv * AUv *x * x *
X oo o o = 5 & 50 o]
) oYV & S o S D D » =)
. R0 S 1 o 1 U o 7 o
e = W O X
g = 8 3 2 3 S 3
In.AI ol of KJ S O S
T I3 5 g K S o S
il = 00 _OT o — © ~ ©
= = <t 30 -
iy =1 u.t KJ KJ o]
— = oll KF KF = —
= < oF & = ot
o ) Tl 21 5 = ol E=ld
= = [l [l 20 )Rk
oF all - o ¥ Ko G Kk Ok
Y| = ) _ﬂT - R R o R Ki- 5 )
. o | = ﬂT ST m T W T |30 T T |T & T |3 | 8
& M~ T e I N R R0 a0 O =] T 5 |R |80
) =] = 3o Wl 2w |m s Wl Kb | KE B o O |[f X a0 [ I MR
5 u W = H ® | < | |0 K Ao K OF [& KF Z T(0F DM MM|oF|X DF
= = = O | R || |< O A O o< O o) ol |<x O Ol | Ofa |k O
I © = S N B = PR 2|3 A = A = SNls (23
o+ X R |12 | | eyl |/ W sy X
. Wla | = T T I
) o | K R |~
< = B

_43_



A & 0l & AF 2 E A A
20128 = =04t LB SR =2& ~ SEF SARL
42z =23 SN EED FHDLSD
HE: 4T M B
Sl Al 2el (&)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
S ZHnsSw 55,233 57,600 A2,367
Az A 25 7,833 0 7,833
HEI &el 7,833 0 7,833
HEI ZIOIZ A 7,833 0 7,833
101 @14 dl 5,833 0 5,833
04 JI2ZtHZ22HEE =+ 5,833 0 5,833
OAHEI HIIBA BAEXE
37,5503 x2H 20 1,502
OAHEI BIIBA d=E2X&
37,5503 «11H «10 4,131
OBEZ (MM .LEBER) 200,000& =14 200
201 Let24dH] 2,000 0 2,000
01 At 22/l 2,000 0 2,000
OAEI EIIZA0 HE w2 HMA
1,000,000& *12] 1,000
OuIZAL BN GE === N2
1,000,000& *12] 1,000
X etd 2 S5 i 2,400 2,400 0
HUXES & AFRSEMEE 2,400 2,400 0
OUXIES L JtACHE S8 2,400 2,400 0
201 L2l 2,400 2,400 0
01 At 22l 2,400 2,400 0
OACtENE =¥ 70,000& %103l 700
OEE=H= 1,700
— 9 100, 000& »23] 200
—E2s 5,000& 3008 1,500
HH2AZH(ZEE? ZHLEL) 45,000 55,200 A 10,200
Jl= &l 45,000 55,200 A 10,200
Jl=dl 45,000 55,200 A 10,200
201 Let24d] 22,800 31,200 A 8,400
01 At 22l 22,800 31,200 A 8,400
ORM2gHI 60,0003 *20H 123 14,400
OJlEs &l 70,0002 x10Z «12& 8,400
202 044l 18,000 19,800 A 1,800
01 S LHOYI 18,000 19,800 A 1,800
OJIeg =80l 150,000& x10H 128 18,000
203 YR =&l 4,200 4,200 0
04 FEN2ELRZ=TH 4,200 4,200 0
ORN2IYS =2 350,000& 128 4,200
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>
N £ 0 & H AN A
U 20& Lete/H S+ 28 ~ 3+ sMREL
527 =23 SN B BAAMD
MRE TAEE =4
=P TR (B9 ®R)
- _ — d =
CRN I S(EH) - HRAY - BYS 0l &k o4 e HlnE2
ST 4 9,974,084 16,097,846 A6,123,762
= 38,847
< 17,232
Al 9,918,005
St TAEE X4 5,500,350 9,646,443 A 4,146,093
AHF 5,500,350 9,646,443 A 4,146,093
I2EA 166,882 153,373 13,509
201 Let2d] 153,632 137,323 16,309
01 At 22l I 16,832 1,909
OsZEaY MforEBRl 2
4,180 *33H « 122 1,656
OgZzeld 2dae s
3,500 *33H «12& 1,386
O&FEAX DX =X 22l 120,000 128 1,440
OgZacld AASHAAE S22
1,650,000& * 14 1,650
OFAE 22 M& 110& *40,00000 x23 8,800
OUgHII= MBS HNAH
100& *5,00001 x 13l 500
OZaeld MHANE I L=
700,000 »10H »22 1,400
02 2324l 136,800 122,400 14,400
O332= € HAl 11,400
~HAYY ZZRI(BHES)
950,000& »12& 11,400
OXtg el 125,400
—dAaXEg RS 550,000& x1101 123 72,600
—HAXE |A22/dl 400,000 *11CH =128 52,800
203 R =&l 2,750 0
03 Al =T YR =EH| 2,750 0
Ostzg zeld 2t sl 1,000, 000& 23| 2,000
OFALHALM 2AHKX 2tE 3
25,000 «3% x50 & & 23] 750
401 AIEHI L 2 CHYI 10,000 0
01 A& HI 10,000 0
ogtZdzeld 2H &X 10,000, 000& *17H A& 10,000
405 XtAHE SHI 500 A 2,800
01 AR ESFH S 500 A 2,800
Ostadzeld & S (&)
500,000 » 104 2 500
NEEAHS 4,557,231 8,734,111 A4,176,880
307 21201 A 4,557,231 8,734,111 A 4,176,880
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HERE SR SN BT HAAMD
M HRE SAEE =4
Sl HAHE (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
05 RIZtR & = 4,557,231 8,734,111 A4,176,880
OXNEHA e 29| 4,474,836
—MEHIE Meldl 2,716&%256,298H ~6& 4,176,633
— HEHIIES HMaldl 4,980 +4,9902 «12& 298,203
OSAMERHIIZ HdE+HEI S ANBIA
6,242 x55004 x33| 8 82,395
Mo SEHEI &R 21,900 10,200 11,700
201 Let2dE] 11,200 9,200 2,000
01 At 2t 2l 11,200 9,200 2,000
OXglIgdgsIl ¢ 2 ZI=F S|
7,000 <20 x5H « 12 8,400
Os&J| Ot 28SJ|ts 285
200,000& »4H 800
OMdIIIESYSEIl 08 M 20,0003 «507H 1,000
OMYIIE=-"EIl &2 M= 100,000 104 1,000
206 M= Hl 2,200 0 2,200
01 =4l 2,200 0 2,200
OEYEI HAX of2ExE 257U
200,000 11& 2,200
301 et d = 8,500 1,000 7,500
12 JIEBHE4 = 8,500 1,000 7,500
OMEDI=gEI MDEAS 30,0008 1004 3,000
OZENAEZTSE MR HS 5,500
— 12,221,321 400,000 1 400
—52/H,102I & ,202| & 700,000& »3H 2,100
— 502/ &, 1002l & 1,000,000 «3& 3,000
2RO 2 704,085 704,085 0
301 et 8= 704,085 704,085 0
10 AHAHIE A3 704,085 704,085 0
OAHB&E X0l A28
9,000 365 «211L 693,135
OB &#adXN&0l 2= M= 30,000& 3659 10,950
MEHIIS HES 9,990 10,190 A 200
201 et 4,950 4,950 0
01 At 22l 4,950 4,950 0
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—Jlas 1,280,330& x33H 123 507,011
— &0z 183,183
IR R =y 925, 160 & *33H x4 3| 122,122
d2=¢ 925, 1603 +33H »23| 61,061
— M eyl 925, 1603 *33H x53| 152,652
— N4 88,110
ExgR+g 90,0003 *33H +12& 35,640
AAT¥AE 70,000 *33H x12& 27,720
HEs=g 25,0003 *33% 2.5+ 123 24,750
— I+ 80,000 *33H x12& 31,680
—xU2FRE 369,935
S22 53,9003 *33H 116 206,330
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— sy ExY 1,684
1 Ssh 420, 7903 x 18 43 1,684
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—s=406t9 150,000 =14 »33H 4,950
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2z =28 SN ERR ALY
BoME0WS A U
o Bo2ee 2o EERED
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
O34 & Zof - A 243 60,382
—AMZTHAHELS 1,049,600& «36HH x1H 37,786
—ZHELS 1,049,600 126 x 1 12,596
— 34X =l 10,000, 000& =1 10,000
10 #ALAHIE A2 4,000 4,000 0
SUAZLRR WU 25,000& x160H 4,000
TH=t THoH Ol & 23,580 36,080 A 12,500
Mt THoH CHEH =& 23,580 36,080 A 12,500
Mo 22 5,600 5,600 0
201 ¢er24l 3,600 3,600 0
01 At 22l 3,600 3,600 0
OTHEHTHOH CH 2 2 BH==Z H| 300,000& =122 3,600
203 YR =& 2,000 2,000 0
03 AIMZ=XH S =AY 2,000 2,000 0
OSHEZ3e & AN L YA RFAY|
2,000,000 2,000
HoEeS=+ 17,980 30,480 A 12,500
201 24| 12,980 23,480 A 10,500
01 At 2t 2l 7,900 18,400 A 10,500
OMLt - THol &2 =4I
7,000 *25H x40 7,000
OMolith & H&2Z2AL 2 7Y
20,000& 30 600
OMoliti 2 H&22A Fat2e
10,000& 30 300
02 =224l 5,080 5,080 0
OMHHH SEHMSIRS 50,000 =1CH 122 600
OssdsE2x4) s
10,000 »4CH =12 480
OA&ZEHl ®Xldl 4,000
—2=J X 600,000 *32] 1,800
— g =F)| 1,000,000& = 1CH 1,000
— sS4 E410] SXHl 300,000 404 1,200
206 M= Hl 5,000 5,000 0
01 MHZ 4l 5,000 5,000 0
O=XMH + 5,000,000& =14 5,000
T2 AE 22 5,928,002 6,089,012 A 161,010
T2 FHl 2,202,442 1,435,414 767,028
cZae 22 78,660 68,660 10,000
201 Let2d] 44,660 34,660 10,000
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A= SR =23 2N P HAEN
HM: T2AlL 2el
ohelr T2 Il (cho &)
AR RN EHH O (3H) - MBEAY - BAS 0l &t o il HDS2
01 AFR2 22l Yl 7,860 7,860 0
Oz a|ao g 70,0003 «12Y *43| 3,360
OE2=2RX &g 450,000& =102 X 4,500
02 =294l 36,800 26,800 10,000
OZXZEHASHEE XIIEES
100, 000& *10024 10,000
OHYE HlaYAI A=b| 100,000& = 12& 1,200
OZZ2 22X SKXIHl (8t,15t, ALCI2IXH)
1,000,000& x12& 12,000
OMNFHEHH KA Y 1,000,000& *14] 1,000
OL2dEEg 2ERZ 12,600
— Ut H 2503 *2002H *12& 600
—SIH 1,750 40021 x12& 8,400
—SIIRH gt&s 1,500 20021 x12& 3,600
203 € R =&lY| 1,000 1,000 0
03 Al Z=&XIH 2 =&Y 1,000 1,000 0
Ozl HREX 1,000,000& 1,000
206 M = Hl 33,000 33,000 0
01 &bl 33,000 33,000 0
OEzE=XNMNM ¥ tNdsE2Y 33,000
— 28T M 10,000& *3,000 %L 30,000
-2 NEgEE 7¢ 3,000, 000& x 14! 3,000
& ol CH 24 24,000 380,400 A\ 356,400
201 et A | 24,000 131,400 A 107,400
02 3524t 24,000 23,400 600
OM&E &l =Xt 1,200,000& *20CH 24,000
ZF0I =3 AL HI 100,000 100,000 0
401 Al HI L 20 HI 100,000 100,000 0
01 A& bl 100,000 100,000 0
OF o= AL Y| 100,000, 000& =14 100,000
& FHISA 100,900 100,900 0
401 AIEHIL 201 100,900 100,900 0
01 A& HI 100,000 100,000 0
OB HHISA 100,000, 000& * 1A 100,000
03 AIE 201l 900 900 0
OB% HHISAH 100,000, 000& *x0.9/100 900
CE2HEM RIS A 201,440 100,900 100,540
401 AIEHI L 201 Y| 201,440 100,900 100,540
01 A& bl 200,000 100,000 100,000
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42 57 23 SN ERT ALY
= T2 AL 22
ohelr T2 Il (cho &)
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A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
OE2HM LIS A 2,000,000& x100a 200,000
03 Al S HHI 1,440 900 540
OEZ2RM RIS A 200,000,000% *0.72/100 1,440
E2AM E=3A 201,440 100,900 100,540
401 Al IR 201 I 201,440 100,900 100,540
01 A& Bl 200,000 100,000 100,000
OE24alt E+3A 2,000, 000& *100a 200,000
03 Al S THHI 1,440 900 540
OLz2AaI B3 A 200,000,000& *0.72/100 1,440
FEUZ(272) MEXNE3 ESHEISAM 1,496,002 0 1,496,002
401 AIEHI L 20 1,496,002 0 1,496,002
01 A& HI 1,490,786 0 1,490,786
EEUZ(272) ddXEs ESFHHSAM
1,448,630,000& 14! 1,448,630
O&AHEAHI 1,448,630,000& *2.91/100 42,156
03 Al 2 THHI 5,216 0 5,216
O=ZEUZ(272) dHX = ECHHISA
1,448,630,000& *0.36/100 5,216
CEZANES RA2L 1,992,160 2,607,380 A 615,220
EZANEE X & FH| 302,160 603, 780 A 301,620
401 AIEHI L 2 CHEI 302,160 603, 780 A 301,620
01 A& Bl 300,000 600,000 300,000
OEZANEE &X & HHl 300,000,000 1Al 300,000
03 Al 2 THHI 2,160 3,780 A 1,620
OEZAEE &X & ZY|
300,000,000& *0.72/100 2,160
EEREE FLoMAH 640,000 953,600 A 313,600
401 A& HIZ 201 I 640,000 953,600 A 313,600
01 A& HI 638,560 950,000 A 311,440
OAB TZAEE HIIBH
80,000,000& »14! 80,000
Odte)l TZAEE HIIBH
60,000,000& =14 60,000
Ong ZudzEzd &« HALsEIt
170,000, 000& * 14! 170,000
Oug ZLotduc 90,000,000 * 14! 90,000
otHg 3234 38,560,000& =14 38,560
Oung & HEY ExE22 SAM
200,000,000& 14 200,000
03 AIE 2 THHI 1,440 3,600 A2,160
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ONZ % HE 245 A
200,000,000 x0.72/100 1,440
HY & XoIXE SAse 29 1,050,000 1,050,000 0
206 M EH| 150,000 150,000 0
01 X Z H| 150,000 150,000 0
OHY & XotxiT ExXNM 2
30,000& x5000H *10= 150,000
401 Al HI L 204 HI 900,000 900,000 0]
01 Al&H| 900,000 900,000 0
OHY & XotxiT sX2deEsEd
900,000, 000& = 14! 900,000
2e SA2el 1,733,400 2,046,218 AN312,818
2sS & Bots 29 978,000 978,000 0
201 et | 978,000 978,000 0
02 B232%H| 978,000 978,000 0
OIE2E, BotS S dMIIAAE &2 2 H
Al 80,000,000& x12& 960,000
OEIAHEHAH =2 1,500,000& x12& 18,000
t2s E4£3| 332,376 725,608 A 393,232
401 A& HI L 204 HI 332,376 725,608 A 393,232
01 Al&H| 330,000 719,600 A 389,600
OJlzs B4 & X2 330,000
— &2+ uA 300,000 *5000H & 150,000
— &2 WA 50,000 =1,000m 50,000
—SZF uA 3,000,000 x20& 60,000
—SHITOtNED| WH 70,000& *1,0004 70,000
03 Al&E 201 Y| 2,376 6,008 N 3,632
OJlzs B4 & X2
330,000,000 %x0.72/100 2,376
2Hots 23| 251,800 251,800 0
401 Al EHI L 204 HI 251,800 251,800 0
01 A& H| 250,000 250,000 0
OBEoS AUl € SAES ZA 250,000
—sJ= WH 300, 000& *5000H 2~ 150,000
—SHITOotNED| WH 50,000& =1, 2004 60,000
—Bos AA 400,000 * 100K 40,000
03 A& E2HH]| 1,800 1,800 0
OBoS 44X ¥ 24
250,000,000 x0.72/100 1,800
HE 2 XotEXNT &8I, SAMRAEL=Z2A 171,224 90,810 80,414
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OEEHY S 5014 &I, A8 EX ANEE &
XNE 170,000
— Z22HY 20 MEYsEX &AX
80,000,000 =14 80,000
— 430 & YMAIE B
4,000,000 50 & 20,000
—HY S22/ WA 500,000 14004 70,000
03 AlE 20| 1,224 810 414
OHYE & XotEXNT &I, A8 EL, AIES
SANE > 170,000,000 *0.72/100 1,224
of & A dl 221,440 221,440 0
of& S Al &2l 221,440 221,440 0
oIl S EHH# S 20,000 20,000 0
401 AlEHI 2L 2 0HY| 20,000 20,000 0
01 Al&H| 20,000 20,000 0
OZLMAH(BHE, 2H) X 22
2,000,000 *10H0 &~ 20,000
SIEAAEZE RANES 201,440 201,440 0
401 A& HI L 204 HI 201,440 201,440 0
1 Al& H| 200,000 200,000 0
Obotd & 1) AIE2SAH| 200,000
— Ol (FH)AIEES EHHIZ2A
400,000 *500m 200,000
03 AlE 21| 1,440 1,440 0
OQdtE (RAH)AMEES HH| 2 A
200,000,000¥ x0.72/100 1,440
HESHAY(SK/P A& W) 330,813 328,986 1,827
ol 2HH| 255,813 253,986 1,827
ol ALY 255,813 253,986 1,827
101 124 H| 255,813 253,986 1,827
03 2IAHAZZXHE = 255,813 253,986 1,827
Oz zae & 244 176,761
-2z 1,181,530& x4 ~12& 56,714
—J|exE 1,181,530& x4H *400% 18,905
— JFAHXI & 1] 1,181,530& 42 x200% 9,453
— HAE S| 1,181,530 4% x150% 7,090
- pYIR4y
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AR BT SARL SN HYS
MY 4YE FUKNKME 29
CHel: FOIXXIME 2435 (SH9: &)
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ofl At o %Eﬁ HR=2
301 Bt A= 107,700 100,790 6,910
05 -2 -BtEEEsEAZ 107,700 100,790 6,910
Os&sd 200,000 *30H *143| 84,000
OSH oA == 20,0002 *x30Y *23|+x12& 14,400
Obt& =& 25,000 x 186X x23| 9,300
MRE 222 S| 7,000 8,260 AN 1,260
301 LBt A= 7,000 7,000 0
10 HAFAHI B A2 7,000 7,000 0
OlRseZ2=22L0s)| HHEAEHA S4H|
7,000 x50 23| x 10 7,000
Hdgds 2 QHL=EA 10,000 7,000 3,000
307 2Iz2to| A 10,000 7,000 3,000
04 QI2H8H AL R 10,000 7,000 3,000
oY s 22t QLAHSIEM A
10,000, 000& = 13| 10,000
SEAMN2IE 68,740 74,040 A5,300
HAI29 A Y| 66,540 74,040 ANT7,500
201 et | 66,540 74,040 AT7,500
02 32%H| 66,540 67,540 A 1,000
OZ2222 ¥ HA 27,000
—MIR22 1,600,000 «12& 19,200
— & ol ER22 400,000& 12& 4,800
—JIEt 2222 ¢ HA 250,000 x12& 3,000
O 2| 21,600
— CAIAR S 1,800,000& ~12& 21,600
OAl& & HI KXY 9,240
— E AR X Y] 300,000& x12& 3,600
— 201AY| &2 170,000& x12& 2,040
— s2JIs X2l 150,000& *12& 1,800
— JIEF A& & HI KX HI| 150,000 ~12& 1,800
OXF&y] 3,600
— 22X (ZH) Xl 300,000 12& 3,600
OFANSY LBr=2H| 200,000 x12& 2,400
OFAHIE AR 2,700,000 13| 2,700
HALEEIN A 2,200 0 2,200
401 Al HI L 2 THHI 2,200 0 2,200
01 Al&EH| 2,200 0 2,200
OZOMAEHAIAL JIsEZ AFEHI
2,200,000 » 14! 2,200
FOI =AY 25,000 20,000 5,000

_80_




M ox
40 5 4

= - — SHE|
SA B E(BH) - NN - BYS e Hl D= 2t
QIS EALE ZH| 25,000 20,000 5,000
401 Al I 2 O8I 25,000 20,000 5,000
01 A& Bl 25,000 20,000 5,000
Fo =@ ALS I 25,000, 000& 25,000
HY2IZH (8L S) 79,966 84,754 N4,788
ol 2EH| 24,946 24,734 212
ol 2AH| 24,946 24,734 212
101 @14 Hl 24,946 24,734 212
03 RIAHAZZ T E += 24,946 24,734 212
Os=QdH FA2el& 24,946
—Jl=s 836,680 122 10,041
—Jlgag 836, 680& *400% 3,347
— JbAIXI & d] 836,680 *200% 1,674
— ZE S| 836,680& *150% 1,256
—wnE2 X 140,000 =123 1,680
— M Z A 80,000 12& 960
— =g 30,000 x12& 360
—EY 80,000& »12& 960
— Ao DRay
4,470 1.5 15A1 2tx 128 1,207
e ELES-
4,470 «1 . 5HH x8Al 2t +22 x 123 1,288
—Qlx=g 4, 4703 *BAI 2H+17L 608
- 220143
(836,6802 /243 Al 21 ) *8Al 2+ x65%* (5 * 12 ) 1,075
—MTHEEZE 24,456,000& *20/ 1,000 490
=3l 55,020 60,020 25,000
Jl23Hl 55,020 60,020 A5,000
201 £B-2d| 21,600 23,400 A 1,800
01 At 22l 21,600 23,400 A 1,800
ORA2gH| 80,000& =12 x12& 11,520
OJle s gl 70,0003 12 128 10,080
202 o4l 21,600 23,400 21,800
02 M0 21,600 23,400 21,800
O HNH| 150,000& x12H 128 21,600
203 R =&l 11,420 11,420 0
01 J22F PR =8| 7,900 7,900 0
OJI&2g g =& 7,900,000& 7,900
02 33 H 2= 520 520 0
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N = 0 &8 AFH Y & A AN
20129 & 204t LBt S P =28 ~ SR SARL
AR EYD SAR 2N BBIS
¥ 2H1IsF E'IPII@E‘I =29
Sl FOIRXIME B4 3 (chol @)
AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2
=221 491,988 415,768 76,220
SZISFOUXNXHME &9 418,330 339,250 79,080
FOXXAEH 2435 285,170 248,990 36, 180
FOUTXAMH 2 145,880 113,660 32,220
201 et A | 32,920 26,000 6,920
01 AFR2t2l Yl 22,920 15,000 7,920
OFUXNXHEH 234 500,000& *12& 6,000
OFURIAA 810 HA+gY
30,000& x25H x12& 9,000
OFQIXXIAE A 22t 3,000,000& 3,000
OFUXNXME &AM dddHE HE WA
300, 000& *3JH 900
OFUNXHEEH HoHza QIIHE
30,000& *307H 900
OFUXXMEH EAM 237 2l
2,000,000& 2,000
OFUXNXHMEH 0 Xz 280,000 43| 1,120
03 M AtE H 10,000 11,000 A 1,000
ORXMEYE HSLHE L MAIF 3,000,000& 3,000
OFUXXME2 g L As 1,000,000& 1,000
OFA4E Mgzl 29 4,000,000& 4,000
T .oz2F AHHZEA g 2,000,000& 2,000
203 R =&Y| 600 600 0
03 Al =X H R =X Y| 600 600 0
OAEANM o5 F=&X 600,000& 600
301 Bt A= 99,360 83,820 15,540
10 AL HI B2 A2 99,360 83,820 15,540
OXRXIME KHJASAX A4
20,000& #3304 x12& 79,200
OXXIHE AlE82te] NS AL A 24
20,0003 *49 »252 20,160
405 XHakF SHI 13,000 3,240 9,760
&L EEFHSHI 13,000 3,240 9,760
OZEHE NSEHFEH(R2LIHEE , AR)
1,100,000& =10CH 11,000
O A ERMH(AF) 1,000,000& *2CH 2,000
AP R M2 28,320 23,520 4,800
201 et A bl 28,320 23,520 4,800
01 AFR2 2t 2l Yl 15,600 10,800 4,800
OAHAZALRFA>EH| 900,000& x12& 10,800
OSEgsdEZ) RANES 200,000& x12& 2,400
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P ESET SARA 2M 3218

A=
M 2 Y1SsSFUNIEH 29
Srol: FOIXXIME B3 EEREED
AR RA BB OBH) - MBEAY - BAS O Ak o8 ﬁlf& HD=2
OFts=z 54038 BB
8,000& *»3000H 2,400
02 3524l 12,720 12,720 0
O332=2 % HA 12,720
—RERZ 1,000,000& x12& 12,000
— s 2ER= 60,000& x12& 720
SHEE g3 & 103,970 103,970 0
301 dEtE A= 103,970 103,970 0
052 -etEEs8A3 103,970 103,970 0]
Osd ¢ 200,000& x29H *14 3] 81,200
OSE 3o FA&G 20,0003 *x29H x23| x12& 13,920
Opta =4 25,000& *177H 23| 8,850
MR 252 S| 7,000 7,840 N840
301 dEtE A= 7,000 7,000 0
10 #AALYI & & 2 7,000 7,000 0
OWRSBRUUEI] HEL FOX SAU
7,000& x50 23| x 10 7,000
SEAMN2YE 108, 160 70,260 37,900
HAI2E E 4| 81,160 67,260 13,900
201 et A | 81,160 67,260 13,900
02 3524t 81,160 58,260 22,900
O332=2 2 HA 22,100
— M2 1,500,000& «12& 18,000
— & olx=ER=2 250,000& x12& 3,000
—XANsSIAH & BE8= 600, 000& = 1CH 600
—JlEet 3322 % HA 500,000 500
OHZdl 18,000
—SAIIAR S 1,500,000& ~12& 18,000
OA & &Hl S XYl 14,160
—3AF L AIEE A 22l
300,000& ~12& 3,600
— &Moot e & =2 120,000 x12& 1,440
— AL ggt2y] 120,000& *12& 1,440
— 201AH| &2 220,000& x12& 2,640
-S| 22 U= 220,000 x12& 2,640
— JIEF AIE&Hl R4 200,000& x12& 2,400
O XH&kd| 4,000
— Xt = X8| 300,000& 12& 3,600
— 0l&X |XbHl 400,000 400
OFA HIE HEA 2,000,000& x13] 2,000
OFA 28 HA 2,000,000& x13] 2,000
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M ox
40 5 4

= - — SHE|
CRA - S(BH) - HRAY - BAS e 2
O&AMN &= 250,000& *23| 500
O&¥stx 4 1,000,000& *13] 1,000
OYyer)] ZH 34 150, 000& 204 3,000
odee I8 1,000,000& »4TH 4,000
OYWited| HOH Xl 1,200,000& »4CH 4,800
OZUHE WA 2= 2,000,000& =14 2,000
OFA2Y el 300,000& 128 3,600
A3 NS 27,000 3,000 24,000
401 Al HI & 28I 27,000 3,000 24,000
01 A& HI 27,000 3,000 24,000
OBAM £ 2 NIYTA 2,000,000 14! 2,000
OBA SHY2 L ALBEBA
20,000,000 » 14! 20,000
OO EHALE JIsEL ALY
5,000,000 » 14! 5,000
Q=2 A 25,000 20,000 5,000
FSHAE F 25,000 20,000 5,000
401 Al&HI & 28I 25,000 20,000 5,000
01 A& HI 25,000 20,000 5,000
O = A 25,000,000 25,000
HE2IZH(SA1S) 73,658 76,518 A 2,860
A294l 26,458 26,228 230
ol 2AH| 26,458 26,228 230
101 124 dl 26,458 26,228 230
03 RIAHAZZ2THE = 26,458 26,228 230
Os=0dH HA2el& 26,458
—Jl=s 836,680 x12& 10,041
—Jlg=g 836, 680& *400% 3,347
— JbAIXI & dl 836,680 *200% 1,674
— ZE S| 836,680& *150% 1,256
—Ws2xdl 140,000 128 1,680
— ZHZ A 80,000& »12& 960
— M= 30,000& 128 360
—EFY 80,000& »12& 960
— st ExsY 420,000& *42 | 1,680
— A2 2+E
4,470 +1 .58 x 15A1 2t «12& 1,207
—sY2eS
4,470 «1 . 5HH «8A| 2t 2L« 12& 1,288
— XY 4,470 «BAl 2H+17L 608
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M ox
40 5 4
OF 0L O

AP SARL
2o FURNAME 29
N2 Y

- _ — d =
SN P SAGEH) - HRAY - BYS e HlnE2
—SAIIARZ 1,900, 000& =122 22,800
OAl&ZEHl s X bl 14,580
—3AN E AES S22
500,000& »12& 6,000
—RoZHl===2 220,000& 122 2,640
— Z A &at2eltl 100,000& 128 1,200
— &ZJIs Xzl 253,000& 122 3,036
— Ml 2 142,000 128 1,704
OXgs A2l 3,600
—2EXE KA 300,000& »12& 3,600
OFA2Y Let==EH| 500,000& = 12& 6,000
OFAM HtE 24 HA 3,000,000& 13l 3,000
OFA 218 & 2,000,000& =13l 2,000
oY) S22l 8,450
— dHI S22 300,000& 12 3,600
— WL HIISE DM 950,0008 *30H 2,850
W] =D WA ¥ &2
2,000, 000 *1CH 2,000
AL 10,330 23,960 A 13,630
401 A& HIZ 201 Y| 9,000 23,960 A 14,960
01 A& HI 9,000 23,960 A 14,960
OsEA =22 ¢ 8EZ 1,000,000 * 14! 1,000
OZOMABAAE JIsESL AL
8,000, 000 1Al 8,000
405 TtHabF S| 1,330 0 1,330
01 AL ESH SHI 1,330 0 1,330
OBML & &1 Helg JEH (M)
190, 0002 74 1,330
=2 A 25,000 20,000 5,000
QIEEALE FHI 25,000 20,000 5,000
401 Al HIZ 201 Y] 25,000 20,000 5,000
01 A& HI 25,000 20,000 5,000
OFe =3 At 25,000,000 25,000
AR (BH2S) 80,762 82,565 ~1,803
A2 3 23,682 23,485 197
A2 23,682 23,485 197
101 @124 dl 23,682 23,485 197
03 I AHA22RHE 23,682 23,485 197
Os=ody EA22E 23,682
—Jlas 836,680& 12 10,041
—Jlg=g 836, 680& *400% 3,347
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AT U SARL SN BB2S
PSR ¥egddl(282s)
Sel: o2y (B9 ®R)
SH-EB .S (3H) - MEAY - BAS 0 AF o il HDS2
— JFA X & Bl 836, 680& *200% 1,674
— @E FItHI 836,680& *150% 1,256
— WEEXH| 140,000& = 12& 1,680
— JHZAH| 80,000& x12& 960
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AR B SARL SN AURIS
M dUE1Is FULNXNLE 2
Sl S FASY CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
oozl 24,000
—SAIARE 2,000,000& +12& 24,000
OAEZHI S X 16,440
— A= X Hl 500,000& 128 6,000
—RoZHl===2 220,000& 122 2,640
— At et 2t el 110,000 128 1,320
— SISzl 240,000& =122 2,880
— JIEtAI € ZHI S X 300,000& »12& 3,600
O Xt 4,200
— Ol EXt= X bl 50,000& 122 600
— X=Xl 300,000& =12& 3,600
OBM2Y LEt=EHI 300,000 122 3,600
OFAL HIE 2A HA 3,000,000 14! 3,000
405 KtobH S| 2,000 0 2,000
01 AR ESFH S 2,000 0 2,000
Ol aea A0t & EXH(aH)
2,000,000& =14 2,000
FAEE A 37,100 31,000 6,100
401 AlEHI 22 0hYI 37,100 31,000 6,100
01 A& tl 37,100 31,000 6,100
OCCTVE Xl S AH(5IH 2) 10,000, 000 * 14! 10,000
OstHE A F= ZA 3,000, 000& * 14 3,000
OS4YUSE HHEX At 600,000 14! 600
OFA HIIAIE SA 1,500,000 * 14! 1,500
OFQUTXHEH 28 X XSAIE SA
18,000, 0002 14 18,000
OZOMABAAE JISEL SAM
4,000,000 *14] 4,000
FoU=R ALY 25,000 20,000 5,000
FoSHEAE E 25,000 20,000 5,000
401 Al HI L 2 THHI 25,000 20,000 5,000
01 A& HI 25,000 20,000 5,000
OFe =3 At 25,000,000 25,000
I SAAY (ML) 82,451 84,059 A1,608
el 2 27,871 27,679 192
ol 2l 27,871 27,679 192
101 1244 dl 27,871 27,679 192
03 RIAHAZ 2B+ 27,871 27,679 192
Os=0dH FA2el & 27,871
—Jlas 836,680& 128 10,041
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AP SARL SN NORIS
H2I2 U (A4UIA1S)
A2 3|
- _ — d =
SA BB S(BA) - MM - BES e

—Jlg=g 836,680 *400% 3,347

— JHAI X & Hl 836,680 x200% 1,674

— ZE S| 836,680& »150% 1,256

—Ws2 Xl 140,000 128 1,680

— ZHZ A 80,000& 12& 960

— &= 20,0003 «2H 122 480

— M 30,000& 128 360

L EELE

4,470 1.5 15A1 2t x 128 1,207
~guaesy
4,470 =1 5HH«BAl 2t #2212 1,288

— XY 4,470 *8Al 2+ %20 716

]

(836,680 /243 A1 2+)*BAl 2t x65%+ (20 « 112 4,315
215 +18)

—MHEE = 27,324,000& *20/ 1,000 547
|23l 54,580
JI23l 54,580

201 L2l 21,600
01 At 2t 2l 21,600
ORAN2Y Let=EH| 80,000 12 ~12& 11,520
O= &l 70,000 128 =128 10,080
202 Oddl 21,600
02 M0 21,600
O HHI 150,000& x12H »12& 21,600
203 YR =2t 11,380
01 122 YR8 7,900
OJI&228 g2 =4l 7,900,000 7,900
02 At H 2= 480
OF AL S =AY 40,000& 129 480
04 NI 3,000
ORN2EYE=AHI 250,000 128 3,000
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AR BT SARL SN AURS
M di2s FUNXNLE 2
©9l: FOXNIME 2o (e9: & 9)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
301 et d = 79,210 79,210 0
05 &-cl-EtEEs2as 79,210 79,210 0
Os&E=+¢ 200,000& x22H x143| 61,600
Os&sogasds=d 20,0003 x22H «23| 128 10,560
Ot =g 25,0003 x141H x23| 7,050
MRe == eS| 7,000 7,630 A 630
301 et 8= 7,000 7,000 0
10 #AtAHIE &3 7,000 7,000 0
OMRet==2ZAESI| HEALEHAS A
7,000 <50 23] 10 7,000
SEAN2S 49,220 45,220 4,000
A2 31,220 37,220 /6,000
201 £B-2dH| 31,220 37,220 A 6,000
02 =224l 31,220 31,220 0
O332= % HAl 11,120
—dIIRa 700,000 128 8,400
—&otx=k 23 60,000& =122 720
—24ENEEE 1,200, 000% *1CH 1,200
—OIEXNEE = 100,000& »2CH 200
—Jiets3e3 ¥ HA 50,000& 122 600
Ozl 9,000
—SAIIARZ 750,000& 122 9,000
OA&ZEHl s X bl 4,800
— AN E AES K22
100,000 128 1,200
—RoZHEE= 180,000 =122 2,160
— Z A &at2eldl 120,000 128 1,440
O Xt 3,900
— 2 Z X=Xyl 3,600,000 3,600
— Ol EXt= Xl 300,000 300
OBM2Y Let=EHI 200,000 12& 2,400
AL 18,000 8,000 10,000
401 AIEHI L 2 CHYI 18,000 8,000 10,000
01 Al&Hl 18,000 8,000 10,000
OFOHQ B JSEAAY
8,000,000 » 14! 8,000
OF AL CCTV & X 10,000,000& » 14 10,000
=AY 25,000 20,000 5,000
FO=EALE 3l 25,000 20,000 5,000
401 AIEHI L 20 25,000 20,000 5,000
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raox nx

= SASA SN MRS
= 28 FUNXNE 2g
9| A2l
- _ — d =
SA BB S(BA) - MM - BES e
01 A& HI 25,000 20,000
OFe =3 At 25,000,000 25,000
HYR2IZH (HUHA2S) 71,495 71,755
ol 2 gl 24,215 23,955
ol 2AH| 24,215 23,955
101 @144 dl 24,215 23,955
03 RIAHAZ 2B+ 24,215 23,955
Os=0dH FA2el & 24,215
—Jlz2s 836,680 x12& 10,041
—Jlg=g 836, 680& *400% 3,347
— JHAI X & Hl 836,680 *200% 1,674
— ZE S| 836,680 *150% 1,256
—Ws2xdl 140,000 128 1,680
— ZHZ A 80,000& 128 960
— M= 30,000& 128 360
—HESY 80,000& »12& 960
—AN2e2esg
4,470 1. 580 15A1 2t x 128 1,207
— 52
4,470 =1 5HH«BAl 2t #2212 1,288
— X< 4, 4703 #BAl 2k+ 152 537
— 23043
(836,680 /243 A1 2H) *8Al 2t x65%+ (2 x 12& ) 430
—MHEE = 23,740,000& *20/ 1,000 475
=3 47,280 47,800
JI23l 47,280 47,800
2Bt | 18,000 18,000
AFS 22l 18,000 18,000
FA2EH| 80,000 x10H «12& 9,600
OJles gl 70,0003 10 «12& 8,400
04 i 18,000 18,000
ERRGE:] 18,000 18,000
O HOHI 150,000 x10H »12& 18,000
e N 10,000 10,000
22 YR 6,600 6,600
OJI&228 g2 =4l 6,600,000 6,600
02 AP 2= 400 400
OFAINH S = 40,0003 =10 400
04 NI FZ=AH 3,000 3,000
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M ox
40 5 4

AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2
201 Bt A | 20,400 20,400 0
01 AP 2t 2l Yl 9,600 9,600 0

ORIAHZLR =& 2HH| 800,000& x12& 9,600
02 33249l 10,800 10,800 0
O332=2 % HA 10,800
—RER3 800,000& x12& 9,600
—UERERS 100,000& = 12& 1,200
405 XtakF SHI 3,000 7,000 A4,000
01 A&t =S F SHI 3,000 7,000 A 4,000
OZ=01oIHOIMI| (CHA) 2,300, 000& =1CH 2,300
OR2AESI(CHA) 700,000 = 1CH 700
SHtE g3 KA 68,170 68,170 0
301 et A= 68,170 68,170 0
05 -2l EsEAS 68,170 68,170 0
OEX 62,320
=1 200,000& x19H x143] 53,200
— 3 oMY 20,0003 *19Y »23| x12& 9,120
OetaE 4 25,000& *117H 23| 5,850
MRt =252 US| 4,200 8,260 A4 ,060
301 dEtE A Z 4,200 7,000 A 2,800
10 AL HI B A2 4,200 7,000 A 2,800
ONRS=2SLUHESI| WA FEOHA S4H|
7,000& x30H 23| *10& 4,200
A2CNE SEBE210D 29 19,538 18,624 914
101 @121l 12,138 11,224 914
04 JI2ZtHZ2E2XNEE S 12,138 11,224 914
OS2 22 12,138
—JI=23 37,5503 * 19 254 9,538
-S54 37,5503 1Y 54! 2,028
— A X 37,5503 18 x123] 451
—AMTHEEZ 12,017,000& *10/1,000 121
201 et A | 2,400 2,400 0
01 AFR2 2t 2l dl 2,400 2,400 0
OEANE2E A28 200,000& x12& 2,400
405 XtabF SHI 5,000 5,000 0
02 &AM+t 5,000 5,000 0
OEANTY 10,000& 500 5,000
s FAN2F 77,284 72,784 4,500
HAMSHZ I 77,284 72,784 4,500
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M ox
40 5 4

F-RA-BH-SAEN) - HRAY - BAS il HI RS2
201 2er= Sl 69,284 72,784 23,500
01 At 2t 2l bl 7,800 16,160 A 8,360

OIMN2Y Lit+ZH| 500,000& »12& 6,000
Od=+J & HHex= 150,000& =122 1,800
02 s3=29Hl 61,484 56,624 4,860
O332= & HA 20,400
—&Jles 1,300,000& x12& 15,600
— ot R3 150,000& 122 1,800
— 282 % JIeHA 3,000,000& 3,000
O =l 15,600
—SANIARS 1,300,000& 122 15,600
OAl &€ &Hl s X H 14,784
— Ro3H =8 207,000& »12& 2,484
— At a2l 135,000& =123 1,620
—sZJIsA2elll 165,000& »12& 1,980
— &It 2AC S =T 200,000& *43| 800
—dued] |22l 300,000& »12& 3,600
— A 28I RAE= ==l
700,000& * 13 700
—JIEt A& IR X 300,000 =123 3,600
OFAL LIS HIEE A 2,500,000& * 13 2,500
OFA 218 HA 3,000,000& 12l 3,000
OFA =3+ S22l 1,000,000& 13l 1,000
OXtettl 4,200
— XtEsAl 300,000& x12& 3,600
— O EX=AIH 50,000 x12& 600
401 AlEHIZ R0 8] 8,000 0 8,000
01 AlZHI 8,000 0 8,000
OHMABEAANE JIsEZ AL H|
8,000,000 * 14 8,000
Fo =2 A 25,000 20,000 5,000
FOUSHEHAE FHl 25,000 20,000 5,000
401 AIEHIZ 2 CHHI 25,000 20,000 5,000
01 A& dI 25,000 20,000 5,000
OFe =3 At bl 25,000,000 25,000
HYE2LZH (HURIS) 69,912 75,075 A5,163
ol 2 oty 23,912 27,275 ~3,363
eI 2gl 23,912 27,275 N 3,363
101 @124 H] 23,912 27,275 N 3,363
03 RIHLZ 22> 23,912 27,275 A3,363
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N = 0l & At & Ml A

AP SARL 2A SRS
Hes FOUXXNHE 29
QIR ME E435 (&2 &)
SH-EB .S (3H) - MEAY - BAS 0 AF o il HDS2
431,432 423,182 8,250
S FOXNXNALMEH 2 359,940 350,070 9,870
AXAE &43) 245,430 238,960 6,470
OIXXIHEH 29 133,640 126,540 7,100
201 et A | 28,800 32,000 A 3,200
01 AFR2t2l Yl 17,800 20,000 N2,200
OFUXNXHEH 234 500,000& *12& 6,000
OFQXXHEH S22 X &2t 2,000,000& 2,000
OFUXXRK 3o EHALG
30,000& *25H x12& 9,000
OnslLisAg b 7
10,000& *20H x4 2 | 800
03 S AIS H I 11,000 12,000 A 1,000
OFUXXMEYH T2 HEFSE U MAIG
3,000,000& 3,000
OFUNXMEHZ2 e & AS 1,000,000 1,000
OFUXXHE SMZE &4 500, 000& 23] 1,000
OXNHEH S80S W8 2,000,000& 2,000
O0Eol MEuna & MASES AH s
4,000,000 4,000
203 € R =&lY| 600 600 0
03 Al =X H R =X Y| 600 600 0
OANEAZHE=A 600, 000& 600
301 dEtEAZ 98,940 92,940 6,000
10 AL HI 2 A2 98,940 92,940 6,000
OFQUXXHE XS AHA &Y 24
20,000& *350H x12& 84,000
OFQUXXIHE Ald2tel ANZ2ALA AH 24
20,000 *39 »249 14,940
405 XHoHF SHI 5,300 1,000 4,300
01 A&t = S F S HI 3,800 0 3,800
OMZEctadal otolZ2l (&l 7}) 2,000,000 *1CH 2,000
OMeEca MBAH(AFA) 50,000& =104 50
OMEHsY F2(AR) 25,000& *10JH 250
OUSHA HMA(AMF) 300, 000& «5CH 1,500
02 &S A7 bl 1,500 1,000 500
Oz 15,000& x100& 1,500
DIAHL2He 29 22,200 22,200 0
201 et A | 22,200 22,200 0
01 At 22l Yl 10,800 10,800 0
ORIAHZLR =& 2HH| 900,000& x12& 10,800
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